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BEXLEHEL

y EMBinaryTreeZXENRINE , € REPRIZZIAERD.
__str__FERBIZ

> FlFBinaryTreeSEIIZEFIATLRIAL
&N -
buildParseTree: & Zi%4F %k 5 XEATH
evaluate: Z4F % ik X K14,
printExp: M PHREEX (KRR LEZWNET) o

EE: TRAENEHBREIXTALETH X, HEHLHNTrue/False,
H#’AEF A "and', ‘or', 'not', HLLA: FEF>not>and>or, Fi
173 R & Bl = A& B IT

42: not ( True or False ) and ( False or True and True )
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BEXELSE

y BinaryTreeffy str

ECRERT: NN def _ str__ (self): H
return '[%s,%s,%s]' % (self.getRootVal(), \

self.getlLeftChild(), self.getRightChild())

__repr__= __str

y buildParseTreefJEIg
AFERT TR AL XAERAGIE L
RESERRGFTOFTEEALRXBBEEEALX, URBHEEALXRMEHLE S
B E A
s —MERATHRFEENR, RELAZ2FETFTHLEREN
« F—MERATREFEEL, 55 KENTEF P ELBETH
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SR
>>>

EXPR: True or False and ( not False or True )

TREE: [or,[True,None,None],[and,[False,None,None], [or,[not,None,[False,None,None
1], [True,None,None]]]]

EXPR: True or False and False or True

TREE: [or,[or,[True,None,None],[and,[False,None,None],[False,None,None]]],[True,.
None,None]]

EXPR: not True or False

TREE: [or,[not,None,[True,None,None]],[False,None,None]]

EXPR: ( not True )
TREE: [not,None,[True,None,None]]
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def buildParseTree(infixexpr):
def makeTree(op): #iRHEIRIERTRIINEFRATHY
eTree= BinaryTree(op)
if op in op2List: #WHIEEFRT, MBEEHIRFPBEAENFIN, LHPA
eTreeRight= operandStack.pop()
eTreelLeft= operandStack.pop()
eTree.setlLeft(eTreelLeft)
eTree.setRight(eTreeRight)
elif op in opllList: #PHIZEFT, MEBREEXRFHEEH—DFN, FRAEFN
eTreeRight= operandStack.pop()
eTree.setlLeft(None)
eTree.setRight(eTreeRight)
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operandStack.push(eTree) #4509 F 1 ERIIRELIE

préc={"mot 4, “apd":3; "gFr" 2, "( i1}
constlList= ['True’', 'False']

oplList= ['not']
op2List= ['and’,

or']

opStack= Stack() #B{ETFi%, RPTFRIBRIERTiIn oplLlist, op2List
4=  operandStack= Stack() #R{F#t%, t&FtFEIBinaryTreefifiR



tokenList= infixexpr.split()
for token in tokenList:
if token== "(":
opStack.push(token)

elif token== ")': #tH, HEEHESHT R
topToken= opStack.pop()
while topToken!= '(':
makeTree(topToken)
topToken= opStack.pop()

elif token in constlList:
eTree= BinaryTree(eval(token))
operandStack.push(eTree)

1
5
=
7S
—
=
©)

>

elif token in (opllList+ op2List):
while (not opStack.isEmpty()) and \
(prec[opStack.peek()]>= prec[token]):
topToken= opStack.pop()
makeTree(topToken)
opStack.push(token)

while not opStack.isEmpty():
topToken= opStack.pop()
makeTree(topToken)

3 Ak 2 sk 5 o g AL 2 2 i ik preturn operandStack. pop()



